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King Fahd University of Petroleum and Minerals
Prep-Year Math Program

Recitation R.7

Questionl:
simplify the following:

(3\/x2 _2-2Jx? +2)(3\/x2 2 +2ﬁ)

(a) (x5 + 5] (b)y/(x+y)’ —4xy
Answer: (a): x/5-+/26 (b): [x -]
Question2:
Find the value of
@ > -2 b) s+ =
J5-2 32 54 16 2

H-2)° -§(-2)°
O EE O

Answer: (a): /5 +% 22 (b):5§Z ©): 25  (d): —4(J§+1)

3
Question3:
let x=7+3v2 and y=7 —34/2 then one of the following isan integer
X
(a)x’ (b)y? (c)—
y
(d)2 (&)X +y°
X
Answer: (e): x>+y?=67+ 422 + 67— 422 =134 is an integer
Question4:
If a is any real number which of the following isTRUE
(@)¥a’ =la (b)4a? =a

(c)i/a_g' =|a| (d )(/% =a;3
e)Yaa="%a

Answer: (a): TRUE (b): FALSE  (c): FALSE (d): FALSE (e): FALSE
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